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D 1km = m = cm = mm
@ 9 km = m = cm
@ 2.6 km= m = cm
@ 0.73 m = cm= mm
® 0.503 m = cm= mm
® 33 mm = cm
@ 700 mm = cm m
26000 cm = m km
2
O 1t = kg = g = mg
@ 10 kg = g mg
@ 2.8 kg = g = mg
@ 0.605 kg = g = mg
® 160000 g = kg = t
® 80000 mg = g kg
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BELHA (RS LEHS) 2

%%

|

@ 1km = 1000 |m = 100000 | ¢ m = 1000000 mm
@ 9 km =| 9000 'm = 900000  cm

@ 2.6 km=| 2600 |m 260000 | ¢ m

@ 0.73 m = 73 cm=| 730 |mm

® 0.503m = 50.3 ' cm= 503 |mm

® 33 mm =| 3.3 cm

M 700 mm = 70 cm 0.7 |m

26000 cm = 260 'm =| 0.26 |km

2

@ 1t =| 10000 kg = 1000000 | g = 1000000000
@ 10 kg = 10000 =/ 100000000 | mg

@ 2.8 kg = 2800 |g 2800000 | mg

@ 0.605 kg=| 605 |g = 605000 mg

® 160000 g =| 160 |kg = 0.16 |t

® 80000 mg = 80 g 0.08 | kg
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